
FIN 532

-ProblemSet 3

D

a The corariance of the fund returns is
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② The variance of a portfolio investing
L-Win A andWa in B is

Up = (l-wra-va5g)"
which can be made o if
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③ Certainly the standard deviation of
returns and the correlation with

returns of other assets.

⑪ Here alternative i. is tree
. Alternative in

is felse since it's possible that the

expected return of MVP might be lowe

then the nsk-free rade. The MVP can

never be the ophinel tangency portfolio,
but it will include all risky securities.



⑤ The statement is true if all

investors have preferences like
u =

p - - Ath
This is the essence of the CAPM,

⑥ This is not true in general . We saw

in class that coraviances between

the returns of risky assets also

matter
.

② a, Let's cell p the original portfolio
and & the new portfolio.
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b
. Ma = 0 . 875 + 0 . 092 + 0 . 125 + 0

. 06 : 8
.
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Ta = 0
. 87550 . 08 = 7%

c. The comment is incorrect since the

correlation of XYZ with her original

portfolio need not be 0 .
4
. The

diversification benefits of X47

might be different.
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Only Q is efficient since the sherpe
rehis of A and B are lower.



b
.

We can combine ro and Q to obtain

a 30% return
,

0
.
3 = (1-2) 0 . 05 + WC0
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w== = = 60%

He should invest 60% in a and

40% in the ust-free assed.

The standard deviation of such

portfolio is
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. 6 x0 .

3 = 18 %
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. 05 = (l-WBYd0 . 10 + WBx0 . 15

Wa=5
WA = 2.

You should short-sell 100% of B and
invest your capital plus the proceeds
of your short selling in A

.

c
.
The MVP will here zero risk.
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d
. Both assets A and B areefficient

since they have the same sherpe relio
which in this case is the maximum
The portfolio competed in b. is

inefficient since its expected return
is less then thewsh free rate.

e
.

We know that the portfolio the t
achieves 6

.
67 % has zeno risk. We

con compute its weights as

(l -WB) JA + WBTB = 0

WB(TB - JA) = - TA

We =-
wa = 1 +2 = 1
: M: 0. 10 - 200 . 15 =

6
.
67%

Therefore
,

borrow as much as you can

ad 4%. Short sell 23 of that amount

ofasset B .

Invest all that in assed A
.



⑩
a
.

Since P is optimal ,

it is in the

CAL of Q.
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0
. 15 = Wx 0 .30 = ) W =

0
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So Peter invests 50% in thensk free
assed and 50% in Q.
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0
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He should borrow 33
.
33 % of his wealth

at the risk-free made and invest

133
.
33 % in Q.
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⑪ a
. Ety =

0
.
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C . i . Stock X has higher I so it is

more appropriate to add to a

well diversified portfolio.
i
.

Shock y has higher SR so it is

more appropiate to hold as a

single stock portfolio .
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